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Wiy Is; Safety a Concern at Night?

Reduced visibility
Drunk/drugged drivers
Drowsy: driVvers

HIgNEr operating SpPeeds; past: the Weolk
area

Implies that crashirsks, and mayie: clash
SeVerity, IS Righer When Working| at night.




Drunk Driving| in Woerk Zones
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Drowsy: Driving In \WWork Zones
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Drowsy: Workers in Work Zones

20%, repert sleep-related diseraers
Pynamic schedules disiupt adjustments

SUPERVISORY Persennel-have: dayiime
duities; as, well

Older workers mere likely affected
Data Very limited en perfermance

Norevidence that night Werk IRcreases
WOIKEN INJUries o deatis




Effect of Night Work on Crash Risk

Stllivan  (1989) — crashes; duing night
WOk IRCIrease 81 Pelcent

Ullmanret al. (2004) — crashes at: night
Increased 102 percent

Major Unanswered guestion: How Wwoeuld
clrasies have heen affected i the Work
ad Been done during the day?




SEVERE TRAFFIC CRASHES
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PDO TRAFFIC CRASHES
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ADDITIONAL CRASH COSTS:
WORK ACTIVITY w/ LC
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ADDITIONAL CRASH COSTS:
WORK ACTIVITY w/o L.C
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WORK ZONE INACTIVE: NO LC
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Questions?

GeraldiUliman

Fexas Iranspertatien instituie
g-uliman@tamu.edu
O79-845-9908




